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Inspiring excellence....fulfilling potential

* One-stop shop for hints, tips, advice,
ideas, motivation, confidence... for
parents and students

 Readiness for learning and
development through KS4

« Part of the process of embedding a
‘can-do’ attitude




BUT... WHY?
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20th August
GCSE Results day

Results up 9%

25 GCSE/BTEC
subjects higher than
national

A*-C figures




We saw...
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Make learning a Iifestyle_ choice

 Read
* Practise
* Discuss
* Revisit
 Think

o Ask

DON'T GIVE UP
YOU CAN'T DO IT...YET
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Stop thinking

and Just
DO IT]




How you will be assessed...
New GCSEs

A diamond is just a piece of charcoal

o The bar haS been I‘aised that handled stress exceptionally well.
» No coursework in most subjects
» More exam papers
» More difficult papers
» Different style of questions in many subjects
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How you will be assessed...
New GCSEs

 New Grading System

» 9-11in most (bUt not all SUbjeCtS) A diamond is just a piece of charcoal

that handled stress exceptionally well.

» Old A*-G in Astronomy, Business, Computer Science, DT,
Health and Social Care, Graphics, RPE

» BTECs now have an examined element and are graded
with Pass, Merit, Distinction, Distinction*

» ‘B isthe new 4’
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How you will be assessed...

How do you know you are doing well?

For subjects still using the old
grading system
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Il be assessed

How do you know you are doing well?

How you w

OGrade

3

Hinchingbrooke School Key Stage 3 and 4 Flight Path

(®)Sublevel
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currently achieve a grade Cand above.

= Broadly the same proportion of students
will achieve a grade 4 and above as

= Broadly the same proportion of

students will achieve agrade 7 and
above as achieve an A and above.

= The bottom of grade 1 will be alignad

with the bottom of grade G.

CURRENT GCSE GRADING STRUCTURE
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T+ Working above expectations

T= Working at their expected point Flight Path and T-Score Explanations
T- Working below their expected point

Scaled score
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Example:
An average student is expected to be a 4= or higher they will be T+, if they are

If at this stage this student is working at

working at a 3+ at the start of Year 10, a
4- by this point in Year 10 and a 4= by
the end of the year.

working at 4- they are T= and if they are
working below a 4- then they are T-.

| ) dftinchingbrooke Fchool

nspinng excelonce Fulfiting potential



Why Is all of this so important?

It's about improvement...and to
Improve you need to know where
you are, then reflect

Assessments
Marking

What are the EBIs?
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The rest of the evening

 Your folder = your group for the evening
* Individual Programme for each group

* Opportunity to ‘browse’, ask questions and
order materials

 Meet staff and Sixth Form students

» Questionnaire and feedback




